I — HARDY
5001# SM45 Rz Bt 85EERI5RIE:M567147)
Built-in Motor Spindle Unit (Patent No.M567147)
#HE Model SM45 | SM45H
B Spindle NT30
= {=TESE Max. RPM 2500 8000
. 6009 / 32009 7009x%2
e Bearing 6007 / 32007 7007x2
ER Voltage 220V 380V 220V 380V
ER Current 6.6A 3.8A 5.4A 3.2A
=B Frequency 84 Hz 267 Hz
BEEINR Power 1.5Kw
HANFIIN Coolant SHS (il cooling)
HEE Roundness Within 0.003mmM

* BBHIREE R

IEHESHEIERS (Driver included)

SM45-NT30
SM45H-NT30

[ =2 [ weight | 45kg |

6-MBX1KF 15

150

208

4-M10x1.5WF15F
N

4-M10x1.5BF 20

NT30

@70

B. SRARAIRINES (L) - ERTIEEH - HOMME
HEAMEN » (ERFERE -

C. SRER MRS (SHE) - EETPH] - HOMIE
ENEE - [EEBEIHIEE -

2-PT1/4"

40 140




5002# SM55 W@z Bt EEaEEER2RI5:M567147)

Built-in Motor Spindle Unit (Patent No.M567147)

% Model SM55 | SM55H
B Spindle NT40

= {=TE3E Max. RPM 2000 6000

. X

K Beating 32008 / 60062 70062
g Voltage 220V 380V 220V 380V
B Current 7.9A 4.5A 8A 4.6A
EB Frequency 66.6 Hz 200 Hz

EBELIER Power 2.2Kw

HANFIIN Coolant SR (il cooling)

HEE Roundness Within 0.003mmM
* ERIHBEE SRR 1RAES#H4ELR (Driver included)

RE/HaZ%#: (Oil cooler not included)

SM55-NT40 A BESBERCTRIRBES) | —REMEE ERE -

SM55H-NT40 B. SHEBTIRIBS(TID) - WETEH - RIWE -
N = NN (£

&= | weign | okg | FOEMEN + EEEERLE -

C. SRERAIRINER (SFE) - BRI - HOWE
ENEE - [BEBEIHIEE -

104 , 128

2-¢ 8520, = -
M10x1 5811535

10-¢ 55420,
MEXI 151

4-¢ 10358251,
M12x1. 7520




5003# SMSO Wi\ Bk EhEEEEFSRI5:M567147)

Built-in Motor Spindle Unit (Patent No.M567147)

#HE Model SM80 | SM8OH
B Spindle NT50
= {=TESE Max. RPM 1500 3500
. X
K Beating 27213/ 0219 P12
g Voltage 220V 380V 220V 380V
B Current 13.3A 7.7A 13.1A 7.5A
S Frequency 40 83.3
LERSABS Power 3.7Kw
HANFIN Coolant ST (il cooling)
HEE Roundness Within 0.003mmM

* BBHIREE R

IEHESEIERS (Driver included)
& /54A01Z#: (Oil cooler not included)

SM80-NT50
SM80H-NT50

[ =2 [ weignt | 95kg |

14- ¢ 58203,
MBXLF15:F

110+0.01

4- P 14§830%,
M16x2BF 257

\\\\\

B. SRARAIRINES (L) - ERTIEEH - HOMME
HEAMEN » (ERFERE -
C. SRER MRS (SHE) - EETPH] - HOMIE
ENEE - [EEBEIHIEE -

300

4- P 12830F,
M14x2IF25/%




HARDY

5004# FMDI155 KER@NE3L/ WF /I8

Built-in Motor Drilling/Tapping Spindle Unit - Flange Type

6-04.2B12F,
M5x0.8BLF 10i%

543

RE Model FMD155
3L | WFEES Drilling / Tapping Capacity(S45C) ®30/ M24
BRATIE Max. Stroke 120mm
ReiER Max. RPM 2500
BREINE Power 3.7Kw
[ Spindle Bearing gg(l)g ; gggég
SR AR B R i Bearing Of Ballscrew Bearing Block 7205%2
U A 75 R PR Seal Of Ballscrew Bearing Block TC32x48x8
I Front Cover Seal LBH155
BIZORUR Front Cover O-ring G155
SEEORUIR Piston O-ring P155x2
RIRIRIR Ball screw ¢ 32x5%C5
ER Voltage 220V(2000rpm) [ 380V(2000rpm) | 220V(2500rpm) | 380V(2500rpm)
&z Current 15A 8.7A 15.2A 8.8A
SR Frequency 67Hz 67Hz 83Hz 83Hz
HANTITN Coolant SH)T (oil cooling)
FMD155
| =28 | weight | kg |

EEERSE
ECMA-EX1305ES

S




5005# EMDCI155W K&EWiEz\iE3lL/ S #7758 (B Eh ]+ H7K)

Built-in Motor Drilling/Tapping Spindle (ATC + Center Coolant)

RE Model FMDC155W
3L | WFEES Drilling / Tapping Capacity(S45C) ¢30/ M24
BRATTIE Max. Stroke 120mm
ReiER Max. RPM 2500
BEEINE Power 3.7Kw
[ Spindle Bearing ggég ; gggég
SR AR B R i Bearing Of Ballscrew Bearing Block 7205%2
YRR KRR R EY Seal Of Ballscrew Bearing Block TC32x48x8
FIESEED| Front Cover Seal LBH155
FIZORUR Front Cover O-ring G155
SEEORUIR Piston O-ring P155x2
RIRIRIR Ball screw ¢32x5xC5
ER Voltage 220V(2000rpm) [ 380V(2000rpm) | 220V(2500rpm) | 380V(2500rpm)
&) Current 15A 8.7A 15.2A 8.8A
SR Frequency 67Hz 67Hz 83Hz 83Hz
HANTIIN Coolant SH)T (oil cooling)
FMDC155W
| =28 | weight | kg |

Bn6S =i

lglgﬁ(%}ﬁﬁ%ﬂ]lgﬂﬂﬂﬁﬂa)

6- 42157,
M5x0.8IF12/F

BT-403HEEF] JJE(FhZE)
4.5T-13

BEERFE
ECMA-EX1305ES




HARDY

5006# FMDM]155 XER@I\E /275

Built-in Motor Facing Head Unit - Flange Type

RE Model FMDM155
BRAITE Max. Stroke 120mm
RiEiR Max. RPM 1600
ZETETNR Power 3.7Kw
e Spindle Bearing ggég ; g%(l)g
EIESNSED) Front Cover Seal LBH155
SEEORUR Piston O-ring P155x2
ERRIFIR Spindle Feeding Ball Screw ¢ 32x5xC5
BIZE Facing Head Silder Ball Screw ¢ 20x5xC5
et S EY DRSS Bearing Of Ballscrew Bearing Block 7205%2
VR A A E] Seal Of Ballscrew Bearing Block TC32x48x8
R i P Bearing Of Facing Head 7203x2
RBEEE Single-Slide Facing Head FA-408
BT Slider Stroke 8mm
ER Voltage 220V(2000rpm) | 380V(2000rpm) | 220V(2500rpm) | 380V(2500rpm)
=) Current 15A 8.7A 15.2A 8.8A
SEER Frequency 67Hz 67Hz 83Hz 83Hz
AN TN Coolant SH)S (oil cooling)
FMDM155
| =28 | weight | kg |

FA-4085Z

AEERSE
ECMA-EX1305ES

925

1079

BEERSE
ECMA-CX0807RH

)




5007# SSD03-60/80 1EARE3L/ A E)7I5E

Drilling/Tapping Spindle Head-Servo Type

R Model SSD03-60 | SSD03-80
3L/ WFEEN Drilling / Tapping Capacity(S45C) b6/ M6
BRATTIE Max. Stroke 60mm | 80mm
ReiER Max. RPM 10000
577 Horsepower 1/2HPx2P
FEH 7R Spindle Pulley 5J-200
=l Spindle Bearing 6002Z7Zx4
g Pulley Bearing 6002ZZx3
SR AT S R 5K Bearing Of Ballscrew Bearing Block 7001x2
YRR R EY Seal Of Ballscrew Bearing Block TC15-24-5x1 , TC18-30-6x1
EIESEES) Front Cover Seal TC45-55-8x1
FERE Spindle Seal TC22-30-7x1
RIRIZE Ball screw ¢ 16x5xC5

Roundness: =0.003mm
*INFEEREERSGE

SSD03-60-ER16
SSD03-60-JT2

[ 22 [ weight [ 13kg |

BEERSE
ECMA CX0602ES




5007# SSD03-6( 1SARER3L/ W Eh7I%E

Drilling/Tapping Spindle Head-Servo Type

SSD03-60-ER16-MF
SSD03-60-JT2-MF

[ 22 [ weight [ 24kg |

1/2HPx4P

BEARSE
ECMA CX0602ES

(90.5) 465.5

SSD03-60-ER16-MB
SSD03-60-JT2-MB

[ =8 [ weight | 24kg |

AEERS:E
ECMA CX0602ES




5007# SSD03-80 1RRRE3L/ WA E)7IE

Drilling/Tapping Spindle Head-Servo Type

SSD03-80-ER16-MF
| =& | weight | 26kg |

1/2HPx4P

EEERSE
ECMA CX0602ES

(81.45) 5135

SSD03-80-ER16-MB
| =% | weight | 26kg |

AEEESE
ECMA CX0602ES

(81.45) 592




5008# SSD05-85 1RRRsE3L/ WA E)7IE

Drilling/Tapping Spindle Head-Servo Type

AR Model SSD05
3L/ W BT Drilling / Tapping Capacity(S45C) $13/M10
RATE Max. Stroke 85mm
ReiEE Max. RPM 5000
57 Horsepower 1HPx4P
FER 7R Spindle Pulley 5M-615
LD Spindle Bearing 600477 x4
B am A Pulley Bearing 620327x3
R AR 7 i Bearing Of Ballscrew Bearing Block 7001x2
YRS A RS EY Seal Of Ballscrew Bearing Block TC15-24-5x1 , TC18-30-6x1
EIESER] Front Cover Seal TC60-70-10x1
FafmE Spindle Seal DH-28-36-6 / 4.5x1
RIRIZHE Ball screw ¢ 16x5xC5

Roundness: =0.003mm
¥ INFEERLEEREE

SSD05-85-ER20
SSD05-85-JT6

[ 28 [ weight |

28kg |

(103.5]

3735

BEEARSE
ECMA C10604ES




5008# SSD05-85 1RRRsE3L/ WA E)7IE

Drilling/Tapping Spindle Head-Servo Type

SSD05-85-ER20-MF
SSD05-85-JT6-MF

[ =8 [ weight | 45kg |

1HPx4P

BEERSE
_ _ECMA C10604ES

SSD05-85-ER20-MB
SSD05-85-JT6-MB

[ =28 [ weight | 45kg |

BEERGE
ECMA C10604ES

(103.5) 664

L,%

||\

ild“_i

L
=’



5009# SSD06-100 EARE3L/RFEHFI5E (BEFISRES : M446677)

Drilling/Tapping Spindle Head-Servo Type (Patent No. M446677)

% Model SSD06 | SSDO6H
B3/ IS EE Drilling / Tapping Capacity(S45C) $16/M12
BRATIE Max. Stroke 100mm
BEBE Max. RPM 3500 | 10000
57 Horsepower 1HPx4P
T Bl Spindle Pulley 5M-50T, ¢78.5xJx15
B Spindle Bearing ggggg:ll // 258352:11 ;gggig
gl Iz Pulley Bearing 6908ZZx2
YRR ER R JER A Bearing Of Ballscrew Bearing Block 7203x2
IR AT A EE ] Seal Of Ballscrew Bearing Block TC24-38-8x1 / TC20-40-8x1
FIESNHED| Front Cover Seal TC70-90-12x1
FIEOTUR Front Cover O-ring G70x1/ G40 (G48-HSK40)x1
Tl Spindle Seal TC45-60-7x1
RIRIZHE Ball screw ¢ 20x5xC5
Roundness: = 0.003mm
RINFEBELEERSE
SSDO06-ER25
SSD06-HSK40
SSD06-JT6

[ =8 [ weignt | 38kg |

HSK40-4385

SEERSE
ECMA CX0604ES




5009# SSD06-100

IR SL/ I FEN/I5E (BBRISRES - M446677)

Drilling/Tapping Spindle Head-Servo Type (Patent No.

HARDY

M446677)

SSD06-ER25-MF
SSD06-HSK40-MF
SSD06-JT6-MF

| =& | weight | 63kg |

HSK40-4385
(EEC)

BEFRSE
ECMA CX0604ES

486

659.7

SSD06-ER25-MB
SSD06-HSK40-MB
SSD06-JT6-MB

| =2 [ weight | 63kg |

145

HSK40-4385
(GEFEc)

EEERSE
ECMA CX0604ES o
3




5010# SSD09-120 13RI/ N FEh7I5E (EEFISRES : M446677)

Drilling/Tapping Spindle Head-Servo Type (Patent No. M446677)

% Model SSD09 | SSDOYH
3L/ IFEE Drilling / Tapping Capacity(S45C) ¢ 25/ M25
BRATIE Max. Stroke 120mm
BEEE Max. RPM 3000 | 8000
57 Horsepower 2HPx4P
TR Spindle Pulley 5M-66T , ¢ 102.3xJx20
e
gl S Pulley Bearing 6010ZZx2
YRR ER R R A Bearing Of Ballscrew Bearing Block 7203x2
IR AT R Seal Of Ballscrew Bearing Block TC24-38-8x1 / TC24-40-8x1
FIESNHED| Front Cover Seal TC90-110-12x1
FammE Spindle Seal TC50-65-8x1
RIRIZR Ball screw ¢ 20x5%xC5
Roundness: = 0.003mm
* A E B EEREE
NS
TAIW;%ﬂ(:%EﬁIENCE
2017
SSD09-NT30 4-¢ 85H30F,

SSD09-HSK50

HSK50-4385
(EED)

[ =% [ weight [ 72kg

4-$8.58825%,
M10x1.5F20:F

155+0.01

M10x1. 52578

BEERSE
ECMA CX0604ES

o] L [ojol Lo '

$102.3xIx20

625.2




5010# SSD09-120 13RI/ N FEh7I5E (EEFISRES : M446677)

Drilling/Tapping Spindle Head-Servo Type (Patent No. M446677)

SSD09-NT30-MF
SSD09-HSK50-MF

[ =8 [ weight | 112kg |

HSK50-4385
(EED)

&
%’. E— ‘ ‘ ‘ 4-0 85MI0F,
NS ™ . H M1 SRF25%

BIEER
TAIWAN EXCELLENCE
2017

2-PT1/8"

4- 85525 F,
M10x1.5BH20%

BEERSE
ECMA CX0604ES

15540.01

200 625.2

SSD09-NT30-MB
SSD09-HSK50-MB

[ =28 [ weignt | 112kg |

HSK50-4385
(GEFD)

& - 1268 I
X1. i
’0\‘ 1 ¢ & &

B R
TAIWAN EXCELLENCE
2017

4-$8.5H25F,
M10x1.5BU A 20

AEERSE
ECMA CX0604ES




5011# SSD12-150 1RAR#E3L/ WA EN7I5E (SFERES

M446677)
Drilling/Tapping Spindle Head-Servo Type (Patent No. M446677)

% Model SSD12 | SSD12H
3L/ IFEE Drilling / Tapping Capacity(S45C) ¢35/ M35
BRATIE Max. Stroke 150mm
BEEE Max. RPM 2000 | 6000
57 Horsepower 3HPx4P
TR Spindle Pulley 8M-54T , ¢ 133.6xJx25
sz e
gl S Pulley Bearing 621127Zx2
USSR 7 PR ) Bearing Of Ballscrew Bearing Block 7204x2
IR AT R Seal Of Ballscrew Bearing Block TC26-42-8x2
FIESNHED| Front Cover Seal TC120-145-12x1
FEmHRE Spindle Seal TC75-90-12x1
RIRIZR Ball screw ¢ 25x5%xC5
Roundness: = 0.003mm
* T EIB L EEREE
NS
TAIWALl\‘lﬁﬂ(:%EﬁIENCE
2017
SSD12-NT40 150 20

SSD12-HSK63

[ 22 [ weight [ 136kg |

HSK63-4385
HSK63 (Ef)

HSK63

4-$8.58H257%,
M10x1.5F 20i%

20040.01

4-® 10.35825F,
M12x1. 75120

©133.6xJx25

AEERFE
ECMA E11315




5011# SSD12-150 1{ERR#E3L/ B FEn/I5E (EFISEES : M446677)

Drilling/Tapping Spindle Head-Servo Type (Patent No. M446677)

SSD12-NT40-MF }\0. 325‘ 180 200 L
SSD12-HSKES MF IS S sowmr

| =& | weight | 205kg |

BIEER
TAIWAN EXCELLENCE
2017

2-PT1/8"

4-¢ 858257,
M10x1.5W 205

678.5

HSK63-4385 r aSEERSE
(EEL) & H g — ECMA E11315

200+0.01

180 . 200

SSD12-NT40-MB N
SSD12-HSK63-MB ."ﬁ

: g
| o | Weight | 205 kg |

B R
TAIWAN EXCELLENCE
2017

4-¢ 10.358257F,
M12x1.75BEF 208

4-¢ 8.5{B25F,
M10x1.58UF 20

678.5

HSK63-4385
(GEEe)

SEFRSE
ECMA E11315




HARDY

5012# SSD15-150 {2ARsE3L/ B F /158 (EFISES - M446677)

Drilling/Tapping Spindle Head-Servo Type (Patent No. M446677)

% Model SSD15 | SSD15H
3L/ IFBE Drilling / Tapping Capacity(S45C) ¢ 50/ M45
BRATIE Max. Stroke 150mm
BEBE Max. RPM 1600 | 4000
57 Horsepower SHPx4P
TR R Spindle Pulley 8M-62T , ¢ 156.5xJx25
B Spindle Bearing ggéiizi ; ggégﬁ ;81‘213
2 A Pulley Bearing 621377Zx2
USRS R JRR R 3 Bearing Of Ballscrew Bearing Block 7205x2
IR AT R Seal Of Ballscrew Bearing Block TC30-50-10%2
BIEHE Front Cover Seal TC150-180-14x1
FEhE Spindle Seal TC90-110-12x1
RIRIZE Ball screw P 32x5%C5
Roundness: = 0.003mm
* A E B EEREE
SN
i
TAIWﬁ%ﬁﬁIENCE
2017
SSD15-NT50

SSD15-HSK80

| =% | weight | 188kg |

HSK80-4385
(%)

4-$10.35835F,
M12x1.75BF 308

21040.02

4-$10.3§E25%,
M12x1.75ILF 20

8M-62T
$156.5xIx25

BEERETE
ECMA E11315

)




———"’ | HARDY
5012# SSD15-150 fERRE3L/ S EN/I5E (BEFIERHS : M446677)

Drilling/Tapping Spindle Head-Servo Type (Patent No. M446677)

SSD15-NT50-MF }\' A 8- ¢ 1858
SSD15-HSK80-MF .’\f 4-¢10.3iH25%,
@N°. M12x1. 7585203

[ =8 [ weight | 240kg |

BIEER
TAIWAN EXCELLENCE
2017

=

4-$10.38351F,
M12x1.75 0 F30i% 5HPx4P

685

HSKB0-4385

BEERSE
ECMA E11315

21040.02

SSD15-NT50-MB ‘\0 180 . 200
SSD15-HSK80-MB q\é 25| i ‘
[ 22 [ weight [ 240kg | b

RIEER
TAIWAN EXCELLENCE
2017

4-$ 1031257,
M12x1. 7552015

4-$10.3§E35%,
M12x1.75IF30%

HSK80-4385

SEGRSE
ECMA E11315

L] 55




5013# SESD06-100 XEE{fEiR#E3/ N FE7I5E

Drilling/Tapping Spindle Head-Servo /Flange Type

% Model SFSD06 | SFSDOGH
B3/ IS EE Drilling / Tapping Capacity(S45C) $16/M12
BRATIE Max. Stroke 100mm
BEBE Max. RPM 3500 | 10000
57 Horsepower 1HPx4P
T Bl Spindle Pulley 5M-50T / ¢ 78.5xJx15
gl S Pulley Bearing 69082Zx2
USRS R JRR R 3 Bearing Of Ballscrew Bearing Block 7203x2
IR AT R Seal Of Ballscrew Bearing Block TC24-38-8x1 / TC20-40-8x1
BIEHE Front Cover Seal TC70-90-12x1
FIEOUR Front Cover O-ring G70x1 / G40(G48-HSK40)x1
FEHE Spindle Seal TC45-60-7x1
SEEORUR Piston O-ring P70x2
RIRIZR Ball screw ¢ 20x5xC5

Roundness: =0.003mm
XN EBEEEARSE

SFSDO06-ER25

SFSDO06-JT6

SFSD06-HSK40

[ =8 [ weight | 37kg |

HSK40-4385
(GEFT)

BEERS: 4-¢ 8.5H25F,
Ec%/?ﬁg:legm M10xL5WF 203




5013# SESD06-100 XEE{fEiR#E3/ N FE7I5E

Drilling/Tapping Spindle Head-Servo /Flange Type

SFSDO06-ER25-MB
SFSD06-HSK40-MB
SFSDO06-JT6-MB

| B8 |Weight| 57 kg |

HSK40-4385
(GEE)

BEERTE
ECMA CX0604

749

SRR IS E) /JEEET =
We accept Special Spindle Unit Order



HARDY

5014#% SFSD09-120 KGRI/ IRFEN/I58

Drilling/Tapping Spindle Head-Servo /Flange Type

% Model SFSD09 | SFSDO9H
3L/ IFBE Drilling / Tapping Capacity(S45C) ¢ 25/ M25
BRATIE Max. Stroke 120mm
BEEE Max. RPM 3000 | 8000
57 Horsepower 2HPx4P
TR Spindle Pulley 5M-66T , ¢ 102.3xJx20
e
gl S Pulley Bearing 6010ZZx2
USRS R JRR R 3 Bearing Of Ballscrew Bearing Block 7203x2
IR AT R Seal Of Ballscrew Bearing Block TC24-38-8x1 / TC20-40-8x1
BIEHE Front Cover Seal TC90-110-12x1
BIEORR Front Cover O-ring G90x1 / G62x1
EHHE Spindle Seal TC50-65-8x1
SEEORUR Piston O-ring P90x2
RIRIZHE Ball Screw ¢ 20x5xC5

Roundness: = 0.003mm
XN EBELEERSE

SFSDO09-NT30
SFSD09-HSK50

| =% | weight | 61kg |

8.5§H25%,
M10x1. 5205

HSK50-4385
(EFD)

EEARSE
ECMA CX0604

¢102.3xIx20

673.2

a8l




e
I —— HARDY

5014# SESD09-120 7KEfalfgsEslL/ W En/I58

Drilling/Tapping Spindle Head-Servo /Flange Type

SFSD09-NT30-MB
SFSD09-HSK50-MB

[ =28 [ weignt | 83kg |

HSK50-4385
(GED)

HSK50

4-¢ 855825,
M10x1.5BEF 205

SEERGE
ECMA CX0604

SRR IS E) /JEEET =
We accept Special Spindle Unit Order




5015# SSFDI11-120 XEEARES|/RFE)7I5E

Drilling/Tapping Spindle Head-Servo /Flange Type

R Model SSFD11-120M-NT40 |  SSFD11H-120M-NT40
3L/ IFEE Drilling / Tapping Capacity(S45C) ¢35/ M35
BRATE Max. Stroke 120mm
BEBE Max. RPM 1800 | 4000
57 Horsepower 3HPx4P
FER TR Spindle Pulley 8M-64T
B Spindle Bearing 6210ZZx2 [ 30210x2 | 7210x4
R En A Pulley Bearing 60152Zx2
R AR 7 i Bearing Of Ballscrew Bearing Block 7203x2
IR AR Bl AR E] Seal Of Ballscrew Bearing Block TC24-40-8x1 [ TC24-38-8x1
EIEE] Front Cover Seal TC110-130-13x1
FIZEORUR Front Cover O-ring G85x1 / G110x1
FEpHE Spindle Seal TC70-90-12x1
SEHEORIR Piston O-ring P110x2
RIRIZE Ball Screw ¢ 25x5xC5

Roundness: = 0.003mm
*INFEEELEEREE

SSFD11-NT40

[ =2 [ weight | 90kg |

—
e o ENeEINe

BEERSE
ECMA E11315




5015# SSFDI11-120 XEEARES|/RFE)7I5E

Drilling/Tapping Spindle Head-Servo /Flange Type

SSFD11-NT40-MB
| == | Weight | 145 kg |

BEFRSE
ECMA E11315

SSFC11-120 XERARHESL/ S 7158/ RENFT L

Drilling/Tapping Spindle Head-Servo /Flange Type / with Unclamping Cylinder

. -




HARDY

5016# SFSDI12-150

KEERAREESL/ A ED7IEE

Drilling/Tapping Spindle Head-Servo /Flange Type

% Model SFSD12 | SFSD12H
3L/ IFBE Drilling / Tapping Capacity(S45C) ¢35/ M35
BRATIE Max. Stroke 150mm
BEBE Max. RPM 2000 | 6000
57 Horsepower 3HPx4P
TR R Spindle Pulley 8M-54T , $133.6xJx25
S
2 A Pulley Bearing 621177%2
USRS R JRR R 3 Bearing Of Ballscrew Bearing Block 7204x2
IR AT R Seal Of Ballscrew Bearing Block TC26-42-8x1 | TC24-42-8x1
BIEHE Front Cover Seal TC120-145-12x1
BIZEORR Front Cover O-ring G120x1 / G85x1
FEHHEY Spindle Seal TC75-90-12x1
SEEORUR Piston O-ring P120x2
RIRIZHE Ball Screw ¢ 25x5xC5

Roundness: = 0.003mm
XN EBEEERSE

SFSD12-NT40

SFSD12-HSK63

[ =% | weight | 106kg |

HSK63-4385
[635)

BEEARSE
ECMA E11315 4-¢ 85820,
M10x1.5F15:%

8M-54T
$133.6xIx25




_———-' HARDY
5016% SFSDI12-150 7XERARESL/WF E7IEE

Drilling/Tapping Spindle Head-Servo /Flange Type

SFSD12-NT40-MB
SFSD12-HSK63-MB

[ =2 [ weignt | 156 kg |

4-¢ 85251,
M10x1. 5B 20i%

BEERSE
ECMA E11315

SRR IS E) /JEEET =
We accept Special Spindle Unit Order

L] o




HARDY

5017# SESD15-150 7KEEiRARESL/ WA &N/

Drilling/Tapping Spindle Head-Servo /Flange Type
% Model SFSD15 | SFSD15H
3L/ IFBE Drilling / Tapping Capacity(S45C) ¢ 50/ M45
BRATIE Max. Stroke 150mm
BEBE Max. RPM 1600 | 4000
57 Horsepower SHPx4P
TR R Spindle Pulley 8M-62T , ¢ 156.5xJx25
B Spindle Bearing ggéiizi ; ggégﬁ ;81‘213
2 A Pulley Bearing 621377Zx2
USRS R JRR R 3 Bearing Of Ballscrew Bearing Block 7205x2
IR AT R Seal Of Ballscrew Bearing Block TC30-50-10%2
FIESNHED| Front Cover Seal TC150-180-14x1
BIZEORR Front Cover O-ring G120x1/G150x1
EHREY Spindle Seal TC90-110-12x1
SEEORUR Piston O-ring P150x2
RIRIZHE Ball Screw ¢ 32x5xC5

SFSD15-NT50
SFSD15-HSK80

Roundness: = 0.003mm
XIS EBELEEARSE

| =% | weight | 151kg |

4-¢ 10.3iH35F,
M12x1. 7530

001
003

$220

HSK80-4385
(ERC)

: . 4-¢ 8.5§825F,
SEEREE M10xL B 2078
ECMA E11315




I —— oY,

5017# SFSD15-150 7KEEfRRRESL/ A 758

Drilling/Tapping Spindle Head-Servo /Flange Type

SFSD15-NT50-MB
SFSD15-HSK80-MB

[ =8 [ weight | 203kg |

4-¢ 10.3835F,
M12x1.75BF 30

AEERSE
ECMA E11315

691.6

1013

SRR IS E) /JEEET =
We accept Special Spindle Unit Order

\ .
SIEFATEE

b/

——
’



HARDY

5018# SFHD06-100

KESHERSESL 27058

Drilling Spindle Head-Hydraulic /Flange Type

% Model SFHDO6 | SFHDO6H
#3LEEND Drilling Capacity(S45C) $16
BRATE Max. Stroke 100mm
BEBE Max. RPM 3500 | 10000
57 Horsepower 1HPx4P
TR Spindle Pulley 5M-50T, ¢78.5xJx15
=W Spindle Bearing 3200611320041 70052
gl Iz Pulley Bearing 6908Z2Zx2
FIEY:E) Front Cover Seal TC70-90-12x1
FEHhE Spindle Seal TC45-60-7x1
SEEORIR Piston O-ring P70x2
BHIKZEORYIR Front Cover O-ring G70x1 / G40 (G48-HSK40)x1
HEERT] Propel Pressure SHIEE(H)30~40kg/cm?
SHELEE Cylinder Diameter 7. 7cm?(ELE ¢ 40 ; INEH ¢ 25)

Roundness: = 0.003mm

SFHDO06-100-ER25
SFHDO06-100-JT6

[ 22 [ weignt [ 38kg |

2-PT1/4"

4-¢ 85251,
M10x1. 520

HTE ¢ 40
131£:100




50187 SFHD06-100 7KE5HER#E312)7I5E

Drilling Spindle Head-Hydraulic /Flange Type

SFHDO06-100-ER25-MB
SFHD06-100-JT6-MB

[ =28 [ weight | e5kg |

HiE P40
1312:100

563

SRR IS E) /JEEET =
We accept Special Spindle Unit Order




HARDY

5019# SFHD09-120 XEHEE3LE)7I58

Drilling Spindle Head-Hydraulic /Flange Type

% Model SFHDO9 | SFHDOSH

#3670 Drilling Capacity(S45C) ¢ 25

BRATIE Max. Stroke 120mm

BEEE Max. RPM 3000 | 8000
57 Horsepower 2HPx4P

T Spindle Pulley 5M-66T , ¢ 102.3xJx20
=W Spindle Bearing 3200711320061 70062
gl Iz Pulley Bearing 6010ZZx2
FIEY:E) Front Cover Seal TC90-100-12x1
FEHHE Spindle Seal TC50-65-8x1
SEEORIR Piston O-ring P90x2
BHIKZEORYIR Front Cover O-ring G62x1 / G90x1
HEERT] Propel Pressure SHIEE(H)30~40kg/cm?
SHELEE Cylinder Diameter 14.7cm?(EL1E ¢ 50 ; INEH ¢ 25)

Roundness: = 0.003mm

SFHDO09-NT30

[ =8 [ weignt | 61kg |

2-PT1/4"

4-¢ 8.5§E25F,
M10x1.51F 20

T § 50
1312:120




5019# SFHD09-120 KEHERE3|,E07]9R

Drilling Spindle Head-Hydraulic /Flange Type

SFHD09-NT30-MB
| == |Weight| 85 kg |

4-¢ 8.5825%,

M10x1.5F20%

HIE $ 50

1028.5

SRR IS E) /JEEET =
We accept Special Spindle Unit Order

. -




2KESHERSE S 207058

Drilling Spindle Head-Hydraulic /Flange Type

it Model SFHD11 | SFHD11H
#3LEEN] Drilling Capacity(S45C) ¢35
RATE Max. Stroke 120mm
SEER Max. RPM 1800 | 4000
57 Horsepower 3HPx4P
TR Spindle Pulley 8M-64T
Fahaf Spindle Bearing 6210Z7x2 [ 302102 | 7210x4
gl e Pulley Bearing 60152Zx2
BIEHE Front Cover Seal TC110-130-13x1
F#hE Spindle Seal TC70-90-12x1
SEEORUR Piston O-ring P110x2
BE/KEORUIR Front Cover O-ring G85x1/G110x1
HEERRT] Propel Pressure SHIBE(H)30~40kg/cm®
SHEIEE Cylinder Diameter

14.7cm?*(ELE ¢ 50 ; IL)EH ¢ 25)

SFHD11-NT40

Roundness: = 0.003mm

SFHD11-FB45
[ 22 [ weight [ 90kg |

0

$160-0.06

4-$ 8.58B20i%, 30
M10x1.5WF15%F




5020# SFHDI11-120 XEHERRS|.E)7I88

Drilling Spindle Head-Hydraulic /Flange Type

SFHD11-NT40-MB
| == | Weight | 145 kg |

2-PT1/4"

1086

SFHD11-FB45-MB
| B8 | Weight | 145 kg |

4- P 8.55B20F,
M10x1.5BF151
PCD$70.6

. -




HARDY

5021#% SFHDI12-150 XEHERE3E)7I8R

Drilling Spindle Head-Hydraulic /Flange Type

% Model SFHD12 | SFHD12H
#B3LEE7] Drilling Capacity(S45C) ¢35
BRATE Max. Stroke 150mm
BEEE Max. RPM 2000 | 6000
57 Horsepower 3HPx4P
TR Spindle Pulley 8M-54T , ¢ 133.6xJx25
=W Spindle Bearing 320101/ 3200001 70002
gl S Pulley Bearing 621177Zx2
FIEY:E) Front Cover Seal TC120-145-12x1
FEHhE Spindle Seal TC75-90-12x1
SEEORIR Piston O-ring P120x2
BHIKZEORYIR Front Cover O-ring G85x1/ G120x1
HEERT] Propel Pressure SHIEE(H)30~40kg/cm?
SHELEE Cylinder Diameter 21.2cm*(F1E ¢ 60 ; I)\EH ¢ 30)

Roundness: = 0.003mm

SFHD12-NT40
[ =2 [ weignt | 108kg |

4-¢ 8.55E251F,
M10x1.5BEF20%

4-¢ 8.55E20F,
M10xL5KIF15%

HIIE B 60
1312:150

"
133.6xJx25,
8M-54T




5021#% SFHDI2-150 XEHEE318)7]58

Drilling Spindle Head-Hydraulic /Flange Type

SFHD12-NT40-MB
| == | Weight | 160 kg |

655.5

SRR IS E) /JEEET =
We accept Special Spindle Unit Order



5022#% SFHDI15-150

2KESHERSE S 207058

Drilling Spindle Head-Hydraulic / Flange Type

R Model SFHD15 | SFHD15H
#B3LEE7] Drilling Capacity(S45C) ¢ 50
BRATE Max. Stroke 150mm
BEEE Max. RPM 1600 | 4000
57 Horsepower S5HPx4P
TR Spindle Pulley 8M-62T , ¢156.5xJx25
W Spindle Bearing 32014x1 1 5004%1 To1e0
gl Iz Pulley Bearing 6213ZZx2
FIEY:E) Front Cover Seal TC150-180-14x1
FEHhE Spindle Seal TC90-100-12x1
SEEORIR Piston O-ring P150x2
BINZEORYR Front Cover O-ring G120x1 / G150x1
HEER ] Propel Pressure SHIEE(H)30~40kg/cm?
SHELEE Cylinder Diameter 21.2cm*(F1E ¢ 60 ; I)\EH ¢ 30)

Roundness: = 0.003mm

SFHD15-NT50

[ =8 [ weignt | 155kg

4-¢ 10.3;
M12x1.75

$H351%,
WF30R

4-¢ 85825,
M10x1.51520%

156.5xJx25




5022# SFHDI15-150 XEHERE31E) 7758

SFHD15-NT50-MB
| =& | weight | 205kg |

Drilling Spindle Head-Hydraulic /Flange Type

691.6

SRR IS E) /JEEET =
We accept Special Spindle Unit Order




5023# SEST06-65 XEWFEN/I5E (F12EED) (KFEEFISE : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission

(SIPO Patent No. 7529700)

RIS Model SFST06
WFEeT] Tapping Capacity(S45C) M12
BRATIE Max. Stroke 65mm
IZhege Thread Guide Pitch 0.4~2.0mm

57 Horsepower, 3 Phase 1HPx4P

TR Spindle Pulley 8M-42T

T B Spindle Bearing ggggﬁ:i gggggzi
gl e Pulley Bearing 6006223

EIESE] Front Cover Seal TC70-90-12x1
BIZEORUR Front Cover O-ring G70x1 / G40 (G48-HSK40)x1

FEHRE Spindle Seal TC45-60-7x1
SEEORUR Piston O-ring P70x2

Roundness: =0.003mm

SFST06-ER25
SFST06-JT6

[ 22 [ weight [ 3skg |

4-$8.5H251F,
M10x1. 5B SF20iR




5023% SFST06-65 XEBWFEN/ITE (F1FEE) CKEESFIER : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

SFST06-ER25-MB
SFST06-JT6-MB

[ =28 [ weight | e5kg |

SRR IS E) /JEEET =
We accept Special Spindle Unit Order



5024# SEST09-85 XKEBWF&EN/I5E (F1F1E2)) (KEESFIER : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission

(SIPO Patent No. 7529700)

AR Model SFST09
WFEeT] Tapping Capacity(S45C) M30
BRATIE Max. Stroke 85mm
IZhege Thread Guide Pitch 0.7~2.5mm

57 Horsepower, 3 Phase 2HPx4P

TR Spindle Pulley 8M-52T
T Spindle Bearing g’gggﬁ ggggg;‘i
gl e Pulley Bearing 6010ZZx3
EIESE] Front Cover Seal TC90-110-12x1
BIEOTUR Front Cover O-ring G90x1 / G62x1
FaEhHE Spindle Seal TC50-65-8x1
SEEORUR Piston O-ring P90x2

Roundness: =0.003mm

SFST09-NT30

[ =8 [ weignt | 61kg |

< 4-08.5%5F,
M10x1.5/ 203

TR
Lead Screw

4- 8525,
M10x1. 520




_ : HARDY
5024% SFST09-85 XEWZFENJI5E (F12EE)) (KBESFIER : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

SFSTO09-NT30-MB
| == |Weight| 85 kg |

F1F

Lead Screw

4-¢8.58251%,
M10x1.5F 20

813

SRR IS E) /JEEET =
We accept Special Spindle Unit Order




5025# SFST11-90

KEBINF &) 758 (F12EE)) (KPEEFISE - 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

AR Model SFST11
WFEeT] Tapping Capacity(S45C) M35
BRATE Max. Stroke 90mm
IZHEEE Thread Guide Pitch 0.8~3.0mm

57 Horsepower, 3 Phase 3HPx4P

TR Spindle Pulley 8M-56T
2 Spindle Bearing 6210ZZ%3

B am A Pulley Bearing 6013ZZx1 / 60152Zx1
EIESYEE) Front Cover Seal TC110-130-13x1
FIZEORUR Front Cover O-ring G70x1/ G110x1
Fapma Spindle Seal TC70-90-12x1

SEEOIUR Piston O-ring P110x2

Roundness: =0.003mm

SFST11-NT40

[ =2 [ weight | 90kg |

/I

s )
Lead Screw




5025# SEST11-90 KERSFEN/IEE (F12EED) (KBEEEFIEE : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

SFST11-NT40-MB
| == | Weight | 145 kg |

Q F12

Lead Screw

SRR IS E) /JEEET =
We accept Special Spindle Unit Order




5026# SFST12-90

IKEEIA ED7I5E (F12EED) (KBEEFIER : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

AR Model SFST12
WFEeT] Tapping Capacity(S45C) M45
BRATIE Max. Stroke 90mm
IZhege Thread Guide Pitch 0.8~3.0mm

57 Horsepower, 3 Phase 3HPx4P

TR Spindle Pulley 8M-62T
T Spindle Bearing ggéﬁii ggggg:i
gl e Pulley Bearing 621177Zx2
EIESE] Front Cover Seal TC120-145-12x1
BIEOTUR Front Cover O-ring G120x1 / G85x1
FEhHE Spindle Seal TC75-90-12x1
SEEORUR Piston O-ring P120x2

Roundness: =0.003mm

SFST12-NT40
[ =2 [ weignt | 105kg |

7

e
e\
3

)

M10x1.5XF20iF

) Dt - -
)
aa-.a’d
9 4-¢ 8.5825F,

4-¢ 8.520%,
M10x1 5BF15%




_-—“"' | HARDY
5026# SFST12-9(0 KEWFEN/I5E (F12EE)) (KFEEFIEE : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

SFST12-NT40-MB
| == | Weight | 150 kg |

4- P 85525,
M10x1.5BIF 20

SRR IS E) /JEEET =
We accept Special Spindle Unit Order




5027# SFST15-120

KEBINF &) 758 (F12EE)) (KPEEFISE - 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

RIS Model SFST15
WFEeT] Tapping Capacity(S45C) M50
BRATIE Max. Stroke 120mm
IZhege Thread Guide Pitch 0.8~3.0mm

57 Horsepower, 3 Phase SHPx4P

TR Spindle Pulley 8M-72T
T Spindle Bearing ggéiiﬁ ggéig:i
B2 A e 7 Pulley Bearing 621477x2
EIESE] Front Cover Seal TC150-180-14x1
BIEORUR Front Cover O-ring G120x1 / G150x1
FEHHE Spindle Seal TC90-100-12x1
SEEORUR Piston O-ring P150x2

Roundness: =0.003mm

SFST15-NT50
[ =2 [ weignt | 150kg |

4-$10.3i35F,
M12x1. 758305

/@rﬁ

Lead Screw

4-¢ 8.5M}25R,
M10xL5BF 203




s
—'—"'f'

5027# SEST15-120 7KEBEWFENIITE (F1FEE)) (KEESFIER : 7529700)

Tapping Spindle Head /Flange Type/Lead Screw Transmission
(SIPO Patent No. 7529700)

SFST15-NT50-MB
[ =& | weight | 200kg |

¥

g
Lead Screw

590.5

4-¢ 10.3E35%,
M12x1. 75 30i%

SRR IS E) /JEEET =
We accept Special Spindle Unit Order




HARDY

5028# SSFSD09-120

ZKEEfRIAR R V) &0 /J5E (57 5%%:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

R Model SSFSD09-120M-NT30
BRATIE Max. Stroke 120mm
RiEiR Max. RPM 1600
57 Horsepower 3HPx4P
FE TR Spindle Pulley 5M-66T
F e Spindle Bearing ?3(2)%3:1 ; ggggg:i
52 5 i i Pulley Bearing 6010ZZx2
EIEES] Front Cover Seal TC90-110-12x1
FEHHHE Spindle Seal TC50-65-8x1
SEEORIR Piston O-ring P90x2
BHIKZEORLR Front Cover O-ring G62x1 / G90x1
FEARIRIE Spindle Feeding Ball Screw ¢ 20x5xC5
YAl Facing Head Slider Ball Screw ¢ 20x5xC5
SR AR o P i Bearing Of Ballscrew Bearing Block 7203%x4
VAR B A RS ] Seal Of Ballscrew Bearing Block TC20-40-8%2 | TC24-38-8x2
AL Bearing Of Facing Head 7207x2 | 7203x2
YRS Seal Of Facing Head s 43%151/7$g;:388x q
R7IEER Single-Slide Facing Head FA-408
TBEEITIE Slider Stroke 8 mm

R IARIEENIEEE] R

We accept Special Spindle Unit Order

EAZVPRERRSLONT (1258)

Roundness: =0.003mm
Slider Self-Repeatability: =0.005mm (BJJ53EEEEEN)

a8l




5028# SSFSD09-120 XEE{GRRRE JIE)7I58(EF)5%HE:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

SSFSD09-NT30 }\0

= f L/ ‘.

| 58 |We|ght| kg | Ine
TAIW;:EXCEI:I.ENCE

2017

AEEESE
ECMA CX0604

FA-408

BEEETE
ECMA CX0807

SSFSD09-NT30-MB AN
L]
[ =8 [weight | kg | e

o

TAIWAN EXCELLENCE
2017

BEEEFE
ECMA CX0604

EEERSE
ECMA CX0807




HARDY

_

5029# SSFD11-120 XERRREIEN7I5E(EF5%RIE:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

G2k Model SSFD11-120M-FB45
RATTE Max. Stroke 120mm
I ESES Max. RPM 1600
50 Horsepower 3HPx4P
TR Spindle Pulley 8M-64T
i Ak Spindle Bearing 6210272 [ 302102
B2 R e 75 Pulley Bearing 60152Zx2
IS Front Cover Seal TC110-130-13x1
FERE Spindle Seal TC75-90-12x1
SEEORUR Piston O-ring P110x2
BEIKZEORIR Front Cover O-ring G85x1 / G110x1
ERRIZIT Spindle Feeding Ball Screw ¢ 25x5xC5
RIS Facing Head Slider Ball Screw ¢ 20x5%xC5
7 Y S Bearing Of Ballscrew Bearing Block 7203x4
VRS A RS EY Seal Of Ballscrew Bearing Block TC24-40-8x2 | TC24-38-8x2
F T B R A Bearing Of Facing Head 7207x2 [ 72032
VALY Seal Of Facing Head T 42)-%151/7?'32238& q
R/ ER Single-Slide Facing Head FA-408
TBEEITHE Slider Stroke 8 mm

R IARIEENIEEE] R

We accept Special Spindle Unit Order

RN T

Roundness: =0.003mm
Slider Self-Repeatability: =0.005mm (FB/J33REEEEN)




5029# SSFD11-120

ZKEE{RIAR R V) &0 /J58 (57 5%%:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

SSFD11-FB45
| =& | weight | 173kg |

=Nf

LasgegE O
TAIWAN EXCELLENCE
2017

BEERTE
ECMA CX0807

121 83 35

SSFD11-FB45-MB
[ =8 [ weignt | 215kg |

BEERSE
ECMA E11315 AEERESE
ECMA CX0807




HARDY

5030# SSFSDI12-150

ZKEE{RIAR R V) &0 /J58 (54 5%%:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

R Model SSFSD12-150M-NT40
RAITE Max. Stroke 150mm
=T ESES Max. RPM 1200
5O Horsepower 3HPx4P
FENE TR Spindle Pulley 8M-54T
T e Spindle Bearing ggélﬁ:i ; gggggﬁ
52 i i Pulley Bearing 621177%2
EIESED Front Cover Seal TC120-145-12x1
FEHE Spindle Seal TC75-90-12x1
SEEORUR Piston O-ring P120x2
FH7KEORIR Front Cover O-ring G85x1 / G120x1
ERRIZIT Spindle Feeding Ball Screw ¢ 25x5xC5
YAl Facing Head Slider Ball Screw ¢ 20x5%xC5
R AR 7 i Bearing Of Ballscrew Bearing Block 7204%2 [ 7203x%2
VAR B RS E] Seal Of Ballscrew Bearing Block $g§gj§gﬁ ;ﬁ;gggggﬁ
F T B R A Bearing Of Facing Head 7207x2 [ 72032
AL SR Seal Of Facing Head e 42)—%1?/7$g;i388x 1
R7IEER Single-Slide Facing Head FA-610
TBEE(TE Slider Stroke 10 mm

R IARIEENIEEE] R

We accept Special Spindle Unit Order

Roundness: =0.003mm
Slider Self-Repeatability: =0.005mm (B/J33REEEEN)

a8l




5030# SSFSDI12-150 XEERREIE/I58(EFEH5:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

SSFSD12-NT40 N,
| =2 | weight | kg | e

BEER
TAIWAN EXCELLENCE
2017

OiEARSE
ECMA E11315

EEERSE
ECMA CX0807

SSFSD12-NT40-MB AN
L]
[ =8 [weight | kg | e

BHEER
TAIWAN EXCELLENCE
2017

SEERSE
ECMA E11315

AR
ECMA CX0807




HARDY

= —— — =
L ——————

5031# SSFSD15-150 XEE{@RRREJJEh/I58(EF]5%H:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

R Model SSFSD15-150M-FB45
RATTE Max. Stroke 150mm
=T ESES Max. RPM 1200

57 Horsepower 5HPx4P

g Spindle Pulley 8M-62T
T e Spindle Bearing 2(2%1421:1 ; ggéié:i‘

52 i Pulley Bearing 621377Zx2
EIESNEE) Front Cover Seal TC150-180-14x1
FEHE Spindle Seal TC90-110-12x1

SEEORUR Piston O-ring P150x2

FH7KEORIR Front Cover O-ring G120x1 / G150x1
TEFRIRR Spindle Feeding Ball Screw ¢ 32x5xC5
YAl Facing Head Slider Ball Screw ¢ 20x5%xC5

AR e R PR Bearing Of Ballscrew Bearing Block 7205x2 / 7203%2
IR AR B RS E] Seal Of Ballscrew Bearing Block e 4-I(-)C§>?15/0Téoz>:12388x q
P2 D A R A Bearing Of Facing Head 7207x2 / 7203%2
LS| Seal Of Facing Head e 42)-%1?/723;:38& 1

R7IVEER Single-Slide Facing Head FA-610

TBEE(TE Slider Stroke 10 mm

R IARIEENIEEE] R

We accept Special Spindle Unit Order

Roundness: =0.003mm
Slider Self-Repeatability: =0.005mm (B/J33REEEEN)




5031# SSFSD15-150 XEE{@RRREJJEh/I58(EF]5%H:M510810)

Facing Spindle Head-Servo / Flange Type (Patent No.M510810)

SSFSD15-FB45

| =% | weight |

kgl

N

£ o
TAIWAN EXCELLENCE
2017

BEEHRSE
ECMA E11315

BEERSE
ECMA CX1020

SSFSD15-FB45-MB

| =% | weight |

kgl

8M-62T

</
NS

o

TAIWAN EXCELLENCE
2017

BEEESE
ECMA E11315

BEERTE
ECMA CX1020




